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Question 1.Select the related word/letters/numbers from the alternatives:
33 T faweal © 9 GafRia Weg/31&RY/we $ gHul

Pig: Sty:: Dog:?

3R : Y[PRMCT: Pl : ?

Options:
1) Burrow

2) Hives
ERl

3) Shed

BYUR

4) Kennel

DAl

Correct Answer: Kennel
PAIR

Candidate Answer: Kennel

PUATR
Question 2.Select the related word/letters/numbers from the alternatives:
30 T el o § YafAd g/ 31erl/Tem & gl

BDGK : ACF]: : ? : DFIM

Options:
1) FKGH

2) EGIN
3) EGIK

4) FGHI
Correct Answer: EGIN
Candidate Answer: EGIN

Question 3.Select the related word/letters/numbers from the alternatives:
33 T faweul © O IR Weg/31&RY/RE H gHTl

01:36::02:7?

Options:

1) 48

2) 49

3) 69

4)70
Correct Answer: 49
Candidate Answer: 49

[(Crovemment OF India)
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Question 4.

For the following questions
Find the odd word/letters/number from the given alternatives.

frafifed vy & iU T iAot & ¥ fawd e/ sier/wem &1 9T ?
Options:

1) House

HbE

2) Stable

S ENEN]

3) Hut

giust

4) Cbttage

Correct Answer: Stable
EESCR)

Candidate Answer: Stable
SN

Question 5.

For the following questions
Find the odd word/letters/number from the given alternatives.

fafaftead oy & fou e fAwet & & favm e/ sieR/d@m & gt ?
Options:
1) BDGK

2) JLOS
3) NPSW

4) MORU
Correct Answer: MORU
Candidate Answer: MORU

Question 6.

For the following questions
Find the odd word/letters/number from the given alternatives.

Fofafed vy o fou e fowedt & 9 faw e/ 31eR/<Re &1 gHT ?
Options:

1) 484

2) 529

3) 625

4) 566
Correct Answer: 566
Candidate Answer: 566

Question 7.Amongst the given responses choose the meaningful logical series.

Faffad e #§ & SH-91 ey 19 2T §U ecl o1 Aries A g ?
1. College

2. Infant

3. Child

4. School

5. Youth

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 2/30
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Options:
1) 2,4,3,1,5
2)2,34,1,5
3)2,4,3,5,1

4)2,3,451
Correct Answer: 2,3,4,5,1
Candidate Answer: 2,3,4,5,1

Question 8.A series is given,with one term missing. Choose amongst the given responses choose the meaningful one

Frofeiad vy o v /e foar man 8, o v ue g 31 U U et § ¥ 96l fawed ga g & I B
CUS, DVT, EWU, ____

Options:
1) FXV

2) VXF
3) XFV

4) XVF
Correct Answer: FXV
Candidate Answer: FXV

Question 9.A series is given,with one term missing. Choose amongst the given responses choose the meaningful one

Prafifad wy & o orgera faam 8, Rl te ue g 71 T e et & @ 9t e IR 3w o g i
206, 221, 251, 296, ?, 431

Options:
1) 326
2) 356
3) 311

4) 341
Correct Answer: 356
Candidate Answer: 356

Question 10.If A is the mother of B and K, D is the husband of A. E is the son of D's brother. What is the relation of A with E

A,B3RKFIACIE, D, ABIUREIE, D F HIE HTASHI S| O A PTE & T T TG T ?
Options:

1) Mother in law

e

2) Sister in law

T/ und

3) Aunt

4) Sister

CRal

Correct Answer: Aunt

Candidate Answer: Aunt

Question 11.Kathir is senior of Ganesh. Ganesh is senior of Apparu. Apparu is junior of Raju. Raju is junior of Ganesh. Who is the most senior?

HIRR, O J IRY 2| 70, 3R & IRY B 1 AW, I BAF 1 I, O A HAY &1 T aRY HH & ?
Options:

1) Ganesh

LR

2) Raju

RS
3) Kathir
PR

4) Apparu
ST
Correct Answer: Kathir

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87
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Candidate Answer: Kathir

Question 12.Select the word which cannot be formed using the letters of the given word

Fofed et & ¥ 95 Tes ML i AT T sg & 18R BT TANT 3 -Ta| ST off bl
REJUVENATION

Options:
1) JUTE

2) NATION
3) REVISION

4) NATIVE
Correct Answer: REVISION
Candidate Answer: REVISION

Question 13.If A=1, HAT=29, then PAN=?

TG A = 1, HAT = 298], A PAN = ?
Options:

1) 21

2)31

3)41

4) 28
Correct Answer: 31
Candidate Answer: 31

Question 14.If 'x' means 'addition’, '-' means 'division’, '/' means 'subtraction' and '+' means 'multiplication’, then which of the equation is correct

" x "B HIAS SIS, "-" BT AGAS I, " / " BT AIAd GHT 3R "+" &7 Haed 101 g, o 3T T faspeat & F s e T8t & 2
Options:
1) 25+10-5/10X3=43
2) 25-10X5+10/3=72
3) 25X10/5+10-3=12

4) 25/10+5X10/3=18
Correct Answer: 25+10-5/10X3=43
Candidate Answer: 25+10-5/10X3=43

Question 15.In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

Fo gHieRur U Fidd gonel § ga fbu e § 1 S SuR W 3T U fawment # I wgt IR gAaw ffdu
53 - 34 = 5334

65 - 46 = 6456

75-24=72

Options:

1) 7542

2) 7524
3) 7452

4) 7254
Correct Answer: 7254
Candidate Answer: 7254

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 4/30
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Question 16.Select the missing images from the given responses:

fau U et & A g i T BT
] 5 28
4 F) 32
) 9 A1
Options:
1)8
2) 31
3)32
4) 36

Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]

Question 17.Deepak starts walking straight towards east. After walking 75 metres, he turns to the left and walks 25 metres straight. Again he turns to the left, walks
a distance of 40 metres straight, again he turns to the left and walks a distance of 25 metres. How far is he from the starting point?

A qd BT 3R T Yo BT ¢ | 75 Hier Ie & d1e I8 I G & 3R 25 Hex Wem Iaar 31 R | 98 97U goar 8 8k 40 ez W gaa1 3| a8 R I Iwgears
3R 25 Hiex T § | 98 YRS g I et v 8 2
Options:

1)35m

35 HieR

2)50 m

50 Hier

3)115m

115 Hiex

4) 140 m

140 Hiex

Correct Answer: 35 m
35 Hiex
Candidate Answer: 35 m

35 Hiex

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements : 1. All fish are tortoise.

2. No tortoise is a crocodile.

Conclusion : I. No crocodile is a fish.

I1. No fish is a crocodile

i vy & v a1 <) gaqen R T B, ek 31t <) s s/Araan, 1 #iiR 11 R T €1 3! IR &1 § i godor 9 § 918 9% e T qu @ e
Tl g1 811 3mueh! o B B b U U gaaen # @ wi-a1 il 0 ¥ 98} R s/mmudr fesrar off dear @ 2
gaqe] : 1. Wi Hefar Hgu §
2. P HFIA ARAS B g
Py : 1) P TR A T B
II) B ASd ATRAS -8 2
Options:
1) Only conclusion I follows
Faa ey 1 98 B
2) Only conclusion II follows
fpe 11 Tl R
3) Both conclusions I & II follows
1 fsp Y 1 & 11 Tt B
4) Neither conclusion I nor II follows

T a ey 1 98t § eI 1 ) s 11 g B

Coryect Answer: Bot_h conclusions I & II follows
S e 1 & 11 T B

Candidate Answer: Both conclusions I & II follows

Tl e I & 11 el

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 5/30
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Question 19.How many triangles can be found out from the following figure:

PR o st Bigsl @19 o1 aad 2
|\_E |
\ S

Options:
1) 17

2)21
3) 24

4) 25
Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]

Question 20.Identify the diagram that best represents the relationship among classes given below: Universe,Stars,Sun

7% fort o AT S 1 e o i ¥ e e o ) et 81 O, aR,
Options:
1)

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 6/30
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Correct Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

DH-T IW SATHTA U NPT F UfTT B R B0 2

) AR
§ ‘ -.
et
4) T
r - dmm

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 7/30
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Correct Answer:

Question 22.Select the one in which the question figure is hidden/embedded.

T IR Sl F V IY I P H gAY o vy snepfal ka7

N

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 8/30
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Options:
) -

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut. From the figures given, indicate how it will appear when opened

T foreht et Y, ST ot SR HiSHR FieT WY df WeH TR a8 b IR Sgpfar i faars &m 2

T 1 e

I
1
i
|
|
|
|
i
N
|
|
] -
e
i
|
I
R
B
e
4
“
o
L5

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 9/30
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Options:
1)
2)
L] ]
1 ~
T "
) | oy
h
< &
3)
.!'-:, . 4 :_'
LA
Hea APy 2,5 st
4)
I EIC_'.. I::l';;_:'.
T &
o g | | o
:.Ld-:il:::| | :_'li"l =
Correct Answer:
] L"IQ' H I:J.;_J.
£ e “
' ; il ,::I'
ol | e |

Candidate Answer: [ NOT ANSWERED ]

Question 24.Mirror is placed on the line MN, then which of the answer figures is the right image?

Jfe, T SUUT BT MN T TR T 9ITE d &1 18 SR SATHI | § -3 S1epfa vy 3ngpfa 1wt ufafera gt 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 10/30
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 11/30
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Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9.A letter from this matrix can be represented first by its row and next by its coloum ex "A" can be represented by 03,10,etc and "P" can be
represented by 55, 67, etc. Similarly, you have to identify the set for the word "REST"

Prafefad us & fReed! § R Ty Som-gug, 31ari & 3 il gRI <xiu Tu §, O & 2 Ru 1w 3 aneggl & &1 oty 1 & Jaw IR e B 9@ 0 4 4 a0 & TE R,
3R 3TE 11 & 5 T 9 d, 7 TSR A U 31&R P! UgQ SHeb! UfeRkT SR &1 T T IRSAT GIRT ST of YebelT & | IeTGR0T & AT, A Bl 03, 10, NS FRT S=far ST T
8 TUTP B 55, 67, 3N RT <A1 1 T 8| 38 oRE ¥ 3MUeh! 3T Xsg; 'REST' & AT THg &1 uga=- 81

VIATHIK | THLGT I |

[F] 1 x H a L} ] ] a4 |
o e e a e e B |
i . T 1 M E ] E 5 P T 0
Ble| LiN|Ela| wlis|P|T|o]n
|-1 E A C L L g | 3| R g P T
Options:

1) 96, 33, 44, 87
2) 58, 21, 85, 75
3) 89, 40, 31, 56

4) 77, 10, 55, 68
Correct Answer: 58, 21, 85, 75
Candidate Answer: 58, 21, 85, 75

Question 26.CENVAT s related to which of the following ?

Jae e TEfa & »
Options:

1) Sales Tax

ICEIEa

2) Excise Duty

3dIG YPeh
3) Custom Duty

7 Yo
4) Service Tax
g

Correct Answer: Excise Duty
JdIq Yesh
Candidate Answer: [ NOT ANSWERED ]

Question 27.Malthusian theory is associated with which of the following ?

AR Riegid fHed Tefaa B 2
Options:

1) Poverty

RIS §

2) Employment

ATR A

3)' Diseases

4) Population
e

Correct Answer: Population
SR &

Candidate Answer: Diseases

Question 28.An amendment of the constitution may be initiated ____

TRYF H TR Bl BRI SIRY BT GBA T

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 12/30
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Options:

1) by introduction by the President of India.

i YR & IPUFT GRT URATGH] BI O |

2) by introduction of a Bill in Rajya Sabha.

T g 1 & fadas &1 o= fasar S |

3) by the Governors of States.

I & FERT |

4) by the introduction of a bill in either House of Parliament.

Tig Tug & forddl ot g A fadaes o= fasan S |

Correct Answer: by the introduction of a bill in either House of Parliament.

g TG o forddl ot g1 o fadges Ut fasar AU |
Candidate Answer: [ NOT ANSWERED ]

Question 29.Kamarup is an ancient name of which region of India?

HRA & g 87 H "BHST T TR TH & 2

Options:
1) Bihar

2) Rajasthan
RUGEIIE
3) Karnataka
HHlcH

4) Assam

ST

Correct Answer: Assam

SH

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which is the parameter for the economic development ?

31f¥fer faorer &1 urad Fafifea § A s g ?
Options:
1) Per capita monetary income
3
2) National income
I S
3) Per capita rural income
gict Safad amior 3
4) Population
EERE)
Correct Answer: Per capita monetary income

v safaa M om

Candidate Answer: Per capita monetary income

T safey M o

g 79 &1 € oe g SR .......... ¥ SREAE ?
Options:

1) Tropic of Capricorn

THR @1

2) Tropic of Cancer

3) Poles

yal &

4) Equator

YHERET

Correct Answer: Equator

YR

Candidate Answer: [ NOT ANSWERED ]

Question 32.Which battle led to the downfall of the Vijayanagar empire?

DH-Y g IV fATTTR TS &1 U g ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 13/30
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Options:
1) Battle of Takkolam

digp e I
2) Battle of Talikota
dId® el §g
3) Battle of Kanwah
DdE I&
4) Battle of Panipat
uHIud IS
Correct Answer: Battle of Talikota
e
Candidate Answer: [ NOT ANSWERED ]

Question 33.The antibiotic penicillin is obtained from which of the following ?

yffa ARl o o giaT 8 2

Options:
1) synthetic process

PR T @

2) a bacterium

T Sftarg §

3) fungus

PP Y

4) virus infected cells

Correct Answer: fungus
HaAb o

Candidate Answer: [ NOT ANSWERED ]

Question 34.Among the world oceans, which ocean is having the widest continental shelf ?

3% & HerIR § 59 HERR 1 Waite el HeEidy Aewh § ?
Options:
1) Antarctic ocean

HENTR
2) Arctic Ocean
3TehTeh HEMEIR
3) Indian Ocean

fe FRRFR
4) Atlantic ocean

HE™NR
Correct Answer: Arctic Ocean
T TR
Candidate Answer: [ NOT ANSWERED ]

Question 35.Data in database at a particular point of time is called as?

5 Ry o & SIeRy A SeT Fl AT HEd | ?
Options:
1) Intension

2) Ex.tension
3) Back up
I 3

4) Application
TABIA

Correct Answer: Extension

Candidate Answer: Extension

Question 36.Which is largest peninsular river in India?

YRA H e 981 ugidiy Tl B @ e 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 14/30
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Options:
1) Krishna
HU
2) Godavari
3) Cauvery
GIERY

4) Mahanadi
Correct Answer: Godavari

Candidate Answer: [ NOT ANSWERED ]

Question 37.Red soil is normally found in India in which regions?

R H o1t et e A § & § U7 S § 2
Options:

1) Eastern Region only

Faq gdf g d

2) Southern Region only

e afelt &7 |

3) Eastern & Southern part of the Deccan Plateau

el uR & ydf 3R afdroft ym &

4) None of these

SEEEIEE]

Correct Answer: Eastern & Southern part of the Deccan Plateau

2ol uoR & yf 3R ol ym H
Candidate Answer: [ NOT ANSWERED ]

Question 38.Who introduced Mansabdari system in India?

YRA B AOGeR v fiem 3% & 2
Options:

1) Babur

TR

2) H}Jmayun

BHIY
3) Akbar

S{haR
4) Jahangir

Correct Answer: Akbar
3{ha}

Candidate Answer: [ NOT ANSWERED ]

Question 39.Limestone is a raw material used by which industry?

fufaead & 9 g ST gRT I3 (FATSH) &1 99N = 11 & &0 3§ fHar S g ?
Options:
1) Aluminium

2) Fertilizers
3) Cement

4) Petrochemicals
3
Correct Answer: Cement

Candidate Answer: Cement

Question 40.The Directive Principles of State Policy has been adopted from which Constitution?

FHH Y IRy F T8 A fFvges Rz da e 7 E?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 15/30
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Options:

1) U.S. Constitution

SRR CIRCOIE]

2) British Constitution

fafe=r widem

3) Irish Constitution

BICHIE!

4) French Constitution

TR dfdem

Correct Answer: Irish Constitution
BSIEHIC]
Candidate Answer: Irish Constitution

SmeRer dfaym
Question 41.Which of the following is indicated by the colour of a star ?

IR 1 01 Aufeiad & T gge § ?
Options:

1) weight

CNES

2) distance

3) temperature

GISEIG

4) size

SThR

Correct Answer: temperature
GlLIE)

Candidate Answer: temperature
dIgHA

Question 42.Atomic number of an atom gives the number of which of the following ?

ot oY) ot oRETUTAS S § Ffaiad § 9 Ot TeAt o7 ud Ieran § ?
Options:
1) electrons

2) pFotons

3) neutrons

AcH

4) neutrons and protons

AcH

Correct Answer: protons

Candidate Answer: electrons

X

Question 43.DPT vaccine is categorized as which of the following ?

SR A A1 Faffed 3 I b TeR FTEATR ?
Options:
1) Anti viral vaccine

2) Anti protozoan vaccine
gfd Tietener St

3) Anti rickettsial vaccine

4) A corﬁbined vaccine

T YK et

Correct Answer: A combined vaccine
T TR T

Candidate Answer: [ NOT ANSWERED ]

Question 44.Which is the highest quality of hard coal?

PER HIIA BT G A 0T T BI- TT BT Q ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87
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Options:
1) Anthracite

2) Bituminous

3) Lignite

4) Peat

die

Correct Answer: Anthracite

Candidate Answer: Anthracite

Question 45.For which one of the following, 'Diodes' are generally used for?

IS &1 v Fofiied & 9 g o wrfar sar | 2
Options:

1) Rectification

TRRMeA

2) Amplification

vadq

3) Modulation

SriAfArsor

4) Filtration

e (e

Correct Answer: Rectification
LIi&IeE]

Candidate Answer: Amplification
PERE]

Question 46.An anemometer measures which of the following ?

TiieR fbget 7 BRaT ® 2
Options:

1) Speed of light

TR BT TR

2) Speed of wind

g B!

3) Speed of water current

Sl YR @t Tl

4) Speed of satellites

BEPHEIRIG]

Correct Answer: Speed of wind

I &I I

Candidate Answer: [ NOT ANSWERED ]

Question 47.'Mission Indradhanush' Campaign in India is associated with?

YRS H 'TIRA grsregy ' i e 9T 8 2
Options:

1) Nutrition to Pregnant Women

mfad wfgarst & tve amER

2) Awareness of Diabetes

SRS (AYHTE) & Ui IaT A

3) Eradication of blindness

ST AT @

4) Vaccination of children

Correct Answer: Vaccination of children

Tl B BT

Candidate Answer: Eradication of blindness

ST I 9

Question 48.Who is the new Director of Film and Television Institute of India (FTII) ?

R fhed 3iR eifast T=IM (FTII) & U iR o § ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 17/30
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Options:

1) Prashant Pathrabe
TRI T2RTS

2) Amol Palekar

3) Shabana Azmi

ST SHTHT

4) Bhupendra Kainthola
P

Correct Answer: Bhupendra Kainthola

Candidate Answer: [ NOT ANSWERED ]

Question 49.Which cell disorder in our body is responsible for colour blindness?

UITRAT SAR TR ¥ 59 ST Bt Tea! & HRU I & ?
Options:

1) WBC

9 IR Bs

2) Cone cell

TP DIRIDBI

3) Rod Cell

o

4) bleuron

WA

Correct Answer: Cone cell
TG PIRABI
Candidate Answer: [ NOT ANSWERED ]

Question 50.Who is the recipient of Man Booker International Prize 2016 for the novel 'The Vegetarian'?

' g ARRRT SU= & fow 99 2016 BT B FAR TR RSS! e fira 2
Options:

1) Orhan Pamuk

3IRET TS

2) Han Kang

3) Elena Ferrante

Tl TR

4) Tonkin

LT

Correct Answer: Han Kang

Candidate Answer: [ NOT ANSWERED ]

Question 51.A can finish a work in 7 days . B can finish the same work in 9 days . The days required to finish the work by both of them together.

A fodt B & 7 37 8 QU B Ihd1 21 B S8 B 1 9 37 H U1 Y bl &1 G Bl fireiehR o OR1 v H fobe 7 ol 2

Options:
1)
14

18

4)
4 1k
16
Correct Answer:
i5

*16

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87
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Candidate Answer:

15
16

Question 52.If the successive discounts be 20% , 10% and 5% , then the single equivalent rate of discount is

I FEFTT B 20%, 10% 3R 5% 1 d Fe P The qHged o= &1 gt ?
Options:
1) 31.6%

2) 31.5%
3) 31%

4) 31.4%
Correct Answer: 31.6%
Candidate Answer: [ NOT ANSWERED ]

Question 53.The ratio of number of boys and girls in a school of 720 students is 7 : 5. How many more girls should be admitted to make the ratio 1 : 1 ?

T XGd | 720 BN T ASH! 3R TSBUN &1 GBI BT U 7:5 T 1:1 BT SJUIT G P AU bt 3R Tsfobat ) Helf ooxetr g 2
Options:
1) 90

2) 120
3) 220

4) 240
Correct Answer: 120
Candidate Answer: 120

Question 54.The selling price of 6 bananas is equal to the cost price of 8 bananas. Then the percentage of profit is

6 Sl 1 3! Ted 8 Fell F ARTA Yoo & SRR @, o A wfra e g 2
Options:
1)20
2)
33—
i

3) 25

4) 30
Correct Answer:

AR
3

Candidate Answer: [ NOT ANSWERED ]
Question 55.A basket contains 300 mangoes . 75 mangoes were distributed among some students . Find the percentage of mangoes left in the basket

TS it & 300 3T B 75 MW $& BE! § fadRkd o R Tu) Siandt & 521 o1} &1 ufa=id J1d Siforl
Options:
1) 70%

2) 72%
3) 76%

4) 75%
Correct Answer: 75%
Candidate Answer: [ NOT ANSWERED ]

Question 56.A man goes to a place on bicycle at speed of 16 km/hr and comes back at lower speed . If the average speed is 6.4 km/hr in total , then the return speed
(in km/hr) is

S e 16 o5, 1. /80eT @t i | Wb 9 e M R 9161 7 R B9 1 3 ity o1 31 afe pa frarsR shed T 6.4 5.1 /aver 8, d A o wHa i
fopait (. #fY./eien) €nft 2
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Options:
1) 10

2)8
3)6

4)4
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

Question 57.The simple interest on a certain sum of money at the rate of 5% per annum for 8 years is Rs. 840 . Rate of interest for which the same amount of
interest can be received on the same sum after 5 years is

Tl ¢RI TR 5% T1ftfeh X & 8 I T YIURUT A Rs. 840 §1 5 TN 18 I ¢FRIR TR Tfe It &1 SIS UTed 81 Y sl bl &R fbeit gt 2
Options:
1) 7%

2) 8%
3) 9%

4) 10%
Correct Answer: 8%
Candidate Answer: [ NOT ANSWERED ]

Question 58.
irc :— 3, chers the velus ol 00 - 374 s

[
= RO L N, e
At c =3 BAT{C 307 4 A w BT

Options:
1)2

2)0
3)3

4H1
Correct Answer: 0
Candidate Answer: 0

Question 59.
1 1
24 4 — = 1, bhen vl | o 5
i iy = Lithenialiea) Py

1 By 1 i
4;'3 o [ o S ap— Tl | S ! AN
-l G A B [ i | Hl = HE]

Options:
1)0

2)1
3) 1/4

4)2
Correct Answer: 0
Candidate Answer: 1/4

Question 60.0 is the orthocentre of AABC , and if zBOC = 110° then 2BAC will be

0, AABC &1 @I & 3R T 2BOC = 110° ©, d 2BAC fabd=T g1 2

Options:
1) 110°

2) 70°
3) 100°

4) 90°
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Correct Answer: 70°
Candidate Answer: [ NOT ANSWERED ]

Question 61.BE and CF are two altitudes of a triangle ABC. If AB = 6 cm , AC = 5 cm and CF = 4 cm , then the length of BE is

BE 3R CF U BIYsT ABC & &l Xiiera 81 afe AB=6 ¥.1f1., AC=5 3.1, 3R CF=4 V.7, T BE &} TaTS w1 gt 2
Options:

1) 4.8 cm

4.8 3.4

2)7.5cm

7.5 9.1

3)3.33cm

3.33 Q.4

4)5.5cm

5.5 9.4,

Correct Answer: 4.8 cm
4.8 .1

Candidate Answer: [ NOT ANSWERED ]

Question 62.The circular measure of the included angle formed by the hour hand and minute hand of a clock at 3 PM will be

T U3 Bl g0 Bt Jg 3R e B S GRI IUER 3 99 §7 Sfdfa IVl BT gad A T G ?
Options:
1)

2)

e
e

3)
L A s

4)
)

Correct Answer:
il

Candidate Answer: [ NOT ANSWERED ]

Question 63.
[2.3)740.027
FEyE — R0 4 00

The vralur of

(2340027
{23 =069+ 0,09
Options:
1)2

T HIA FT § 7

2) 2.27
3)2.33

4)2.6
Correct Answer: 2.6
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average of 100 observations was calculated as 35.1t was found later, that one of the observation was misread as 83 instead of 53. The correct
average is :

100 THI& T 3T 35 Repferd o T uTl a1 § T 33T T i T Defur Y el § 53 Bl ST 83 UG Tl et S o ot ?
Options:
1) 327

2) 34.7
3)35.7
4)36.7

Correct Answer: 34.7
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Candidate Answer: 32.7

Question 65.If Vx - Vy = 1, Vx + Vy = 17 then Vxy = ?

AR VK- VY =1, v+ Vy = 17 @ @ vy =2
Options:
1) V72

2)72
3) 32

4) 24
Correct Answer: 72
Candidate Answer: V72

Question 66.
: 1 . 1 W i36 1
.'_;"'-r='.':-'i—T,:h.:'rr:m:-r.'n.'rmnfnlr— - v — — iz
v 3 i w42 3

L

oy 1 ' s =13
T x= e = ETFﬁl:I\-h—_H}{H- : F1'| T T AT AT

w4 _EN3
I
Options:

1)

3) 5/6

4) 2/3
Correct Answer: 5/6
Candidate Answer: [ NOT ANSWERED ]

Question 67.
fma AASC . BE s extended upta &

1
LACH = 127 LR =—._-| 24 Then 2 is

Ta 4 ARCT, 00 ST 0TS ST T
- TEB 1 o4
FACH = 141", ¢ B = ;.-:.‘-1 ._-|'|.-'_.-?I-'+-'II|¢..'

Options:
1) 60°

2) 75°
3) 80°

4) 90°
Correct Answer: 80°
Candidate Answer: [ NOT ANSWERED ]

Question 68.0 is the centre of a circle and AB is the tangent to it touching at B . If OB = 3 cm. and OA =5 cm, then the measure of AB in cm is

O Ud Jcd BT h= & IR AB JTH! B TR T T e Wi X@1 g1 afe 0B = 3 4.1, 0A = 5 9.1 &), A AB w1 Q.. A Am R g 2
Options:

1) V34

2)2

3)8

4)4
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Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

Question 69.
.

I Sin 1" = The waluys of
>

fec A1 _Krp 59T g

. ¥
3?'1'.'5:.!1 P = }E-’TH:'

Bon 318 -Fin B okl Hi SIE ]
Options:
1)

=T

[ : =
Vo b i

2)

B

3)
-1 :.-.

X
4)
l.l._'

T

Correct Answer:

s

Y lll| 1l i a

Candidate Answer: [ NOT ANSWERED ]

Question 70.The area of the largest sphere ( in cm?) that can be drawn inside a square of side 18 cm is

18 V.1, Yo I1a 7 & R S S T AT TEY IS M 6T e (AL T ) fa g 2

Options:
1) 9721

2) 11664N
3) 360N

4) 288
Correct Answer: 9720
Candidate Answer: [ NOT ANSWERED ]

Question 71.A tower is 50 meters high.Its shadow is x metres shorter when the sun's altitude is 45° than when it is 30° . The value of x in metres is

T IaR 50 Hiex ST 8 | Fore I G &1 3 o 45° BT € 99 909 SU&! ST 39 07 $1 gor | fore 999 g &1 3y o 30° 81 8, W x M. &1 gkl g1 x &l
aH H. H fbar gim 2

Options:

1) 50v3

2)50 (V3-1)
3)50 (V3 +1)

4) 50
Correct Answer: 50 (V3 - 1)
Candidate Answer: [ NOT ANSWERED ]
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Question 72.The following pie-chart shows the study - time of different subjects of a student in a day . Study the pie chart and answer the following questions

fFeffad us-a # te o9 # te v & fRft= fowdl & sieaaT 9vg & o T § 1 UR-a1E Bl 3eagT PR Ik STl

The time spent to study history and chemistry is 4 hours 30 minutes , Then the student studied physics for

SIET SR TR &7 3ieqeH B H 4 7ue 30 Aifie &1 909 o o) o 3 Hifde! 3 uerE fha T @l 2
Options:

1) 1 hour 30 min

1 d¥e1 30 fFe

2) 2.9 hour ( approx.)

2.9 G2 ((WTH)

3) 2 hours

2

4) 3 hours

3°e

Correct Answer: 3 hours
3dc

Candidate Answer: [ NOT ANSWERED ]

Question 73.The following pie-chart shows the study - time of different subjects of a student in a day . Study the pie chart and answer the following questions

feffed uE-aré § ue foT # e o & Rt vl & sreags wwg &) guifar T § 1 UE-ae BT 31eHhe e I el

If the student studied chemistry for 3 hours , then he / she studied geography for

I B 3 TR B UeTs 3 Gue @1, Al ITA WA B UgTs fba T &l ?
Options:

1) 1 hour

1 der

2) 2 hours

2dc

3) 1 hour 30 minutes

1 §eT1 30 fFe

4) 2 hour 30 minutes
2 He 30 e

Correct Answer: 2 hours
2He
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Candidate Answer: [ NOT ANSWERED ]

Question 74.The following pie-chart shows the study - time of different subjects of a student in a day . Study the pie chart and answer the following questions

frefafed s-ae § we foT 7 te 3 & ft= ol & sreme gug &) axifar T 3 | UE-2E T 31 e Iai il

If the student studied 10 hours in a day , then he/ she studied mathematics for

IS B 7 U faT & 10 90 UgR 3 a1 I TG B UeTs fhad IHg &t ?
Options:

1) 3 hour

3dc

2) 10/3 hour

10/3 ¢

3) 1/3 hour

1/3 9c1

4) 3/10 hour

3/10 g1

Correct Answer: 3 hour

3dc

Candidate Answer: [ NOT ANSWERED ]

Question 75.The following pie-chart shows the study - time of different subjects of a student in a day . Study the pie chart and answer the following questions

efafed us-ae § v foT 7w 3 & Rft= vl & s IHg &) axifar T | UT-2nE Sl 31 e I il

Instead of 10% , if the student spends 15% to study other subjects and the time is taken from the time scheduled to study mathematics and if he/ she used to study
20 hours per day , then the difference of time for studying mathematics per day is

e B 3 I U H 10% P SO 15% THY AT § 3R T8 THY g 10 Ueq & MefRa ara & J Rerar @ iR afe 39 ufafe 20 gue ueri @91 /), df ufafes
T U & THT BT 3R b g ?
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Options:

1) 30 minutes

30 e

2) 45 minutes

45 e

3) 1 hour

14e1

4) 1 hour 30 minutes

1 de1 30 fiFe

Correct Answer: 1 hour
1 ¥eT

Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

CONSCRIPT
Options:

1) DRAFT

2) DRAW

3) ENCIRCLE
4) SUBSCRIBE

Correct Answer: DRAFT
Candidate Answer: DRAFT

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it

CAPTIVITY
Options:

1) SLAVERY

2) PERMISSION
3) FREEDOM
4) LIMITATION

Correct Answer: FREEDOM
Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Vivacious

2) Vivascious

3) Vivasious

4) Vivacouse

Correct Answer: Vivacious

Candidate Answer: [ NOT ANSWERED ]

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The job for drawing water (A) / from the village well is usually (B) / carried out by the women and young girls. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: C

Question 80.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I remember him as (A) / someone who was a lot nicer (B) / than circumstances warranted. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: B
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Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Several days passed before (A) / Jeff worked over enough (B) / courage to return to the house. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The starving man able to walk.
Options:

1) can barely

2) were barely

3) are barely

4) was barely

Correct Answer: was barely

Candidate Answer: can barely

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The new railway counter at Dwarka should all travellers.
Options:

1) benefit

2) reward

3) reserve

4) provide

Correct Answer: benefit

Candidate Answer: benefit

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

My younger brother my grandfather.
Options:

1) looks on

2) looks after

3) looks to

4) looks of

Correct Answer: looks after

Candidate Answer: [ NOT ANSWERED ]

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To keep in abeyance
Options:

1) In a state of permanence
2) In a state of emergency
3) In a state of suspension
4) In a state of revision

Correct Answer: In a state of suspension
Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To be in a fix

Options:

1) In pain

2) In distress

3) Depressed

4) In a difficult situation

Correct Answer: In a difficult situation
Candidate Answer: In a difficult situation
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Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To break the ice

Options:

1) Made people angry

2) Made people laugh

3) Made people excited

4) Made people relaxed and comfortable

Correct Answer: Made people relaxed and comfortable
Candidate Answer: Made people excited

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An abattoir is .

Options:

1) a place where animals are slaughtered

2) a place where abbots stay

3) a title of respect given to a priest or abbot
4) a place where animals are worshipped

Correct Answer: a place where animals are slaughtered
Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A man with abnormal habits
Options:

1) Eccentric

2) Frantic

3) Idiotic

4) Sulky

Correct Answer: Eccentric
Candidate Answer: Idiotic

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Words inscribed on the tomb
Options:

1) Epigraph

2) Epigram

3) Epitaph

4) Elegy

Correct Answer: Epitaph
Candidate Answer: Epigraph

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Sunita's sister had ribbons on her hair.
Options:

1)in

2) over

3) through

4) No improvement

Correct Answer: in
Candidate Answer: No improvement

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

She has an ability for Mathematics.
Options:

1) attitude

2) aptitude

3) altitude

4) No improvement

Correct Answer: aptitude

Candidate Answer: No improvement
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Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I was impressed of it.
Options:

1) by

2)on

3) for

4) No improvement
Correct Answer: by
Candidate Answer: by

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Only high officials have access with the President.
Options:

1) to

2) for

3) from

4) No improvement

Correct Answer: to
Candidate Answer: to

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

No other snake is as poisonous as this one.
Options:

1) are as poisonous as this one

2) is more poisonous as this one

3) is poisonous than this one

4) No improvement

Correct Answer: No improvement
Candidate Answer: is more poisonous as this one

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.

The first full-scale, working steam-powered tricycle was built by:
Options:

1) Verbiest

2) Cugnot

3) Trevithick

4) Niepce

Correct Answer: Cugnot

Candidate Answer: Verbiest

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.

Cugnot built steam tractors for:
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Options:

1) The Chinese Emperor

2) The French Army

3) The Jesuit mission

4) The French Conservatory

Correct Answer: The French Army
Candidate Answer: The French Army

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.

The problem with Trevithick's Puffing Devil was:
Options:

1) Its incapability to carry a driver or a passenger
2) With the water supply

3) Its inability to maintain steam pressure

4) Its combustion engine

Correct Answer: Its inability to maintain steam pressure
Candidate Answer: Its inability to maintain steam pressure

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.

What is meant by "Sentiment" in the context of the given paragraph?
Options:

1) Depression

2) Fascination

3) Celebration

4) Resentment

Correct Answer: Resentment

Candidate Answer: Depression

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.

The Pyreolophore was ?

Options:

1) A self-propelled mechanical vehicle

2) A steam-powered tricycle

3) A steam tractor

4) The name of the world's first internal combustion engine

Correct Answer: The name of the world's first internal combustion engine
Candidate Answer: The name of the world's first internal combustion engine
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